JN)1.8 BRH-A/AL

=
=]
9]
Q
(9}
=
o)
[9)
3
o
<

4-MQ— |
L

i

W2 w1 N
L = ==
N L
h — e =
O T 3
T J 4-MQ \“ /%j% @ E'
+ )T [ ] e 9

Assembly
Model No. ()
W W2 Qil hole dXDXh
BRH15A 24 | 47 | 16 | 46| 66 |38X30 M5X8 40 ?3 43| 5 | 15| 14 | 60 |4.5X7.5X5.3
77.8 48.8
EEERLCICS— 30|63 [215]| 5 53X40 M6X9 M6X1 7 |156| 20 | 18 | 60 | 6X9.5X8.5
BRH20AL 92.4 63.4
88 57
_BRH25A 36|70 (235 7 57X45 M8X12 M6X1 78 |156| 23 | 22 | 60 7X11X9
BRH25AL 110.1 79.1
109 72
ENERLS0EN. 42| 90 | 31 9 72X52 | M10X12 M6X1 7 (15628 | 26 | 80 | 9X14X12
BRH30AL 131.3 94.3
109 80
_ BRH35A 48 1 100| 33 |95 82X62 | M10X13 M6X1 8 (15634 | 29| 80 | 9X14X12
BRH35AL 134.8 105.8
138.2 105
EEERSS AN 60 | 120|375 | 14 100X80 | M12X15 M8X1 85 | 16 | 45| 38 [ 105 | 14X20X17
BRH45AL 163 129.8
Ref.Data Basic Load Rating Static Moment Weight
Model No. (mm) (Kaf) (Kgf*m)
Lmax (C) (4] Block(Kg) Rail(Kg/m)
BRH15A 4000 20 850 1650 10 8 8 0.21 14
14, 2560 .
BRH20A 4000 20 50 22 18 18 04 26
BRH20AL 1900 3330 28.6 23.4 23.4 0.52
214 4000 2 1 .57
BRH25A 4000 20 0 36 3 3 0.5 36
BRH25AL 2996 5600 50.4 44.8 43.4 0.72
2 5490 4 1.4
BRH30A 4000 20 980 60 50 9 52
BRH30AL 3900 7190 78.5 65 65 14
7010 7 7 1.
BRH35A 4000 20 3960 96 5 3 6 72
BRH35AL 5230 9270 125 95 95 2
74 12100 17 1 2.7
BRH45A 4000 05 6740 216 0 68 123
BRH45AL 8330 14950 267 210 210 3.6

/-ABBA




JX)1.9 BRH-B/BL |

4-MQ—

= Hl———=T1 ¥

Lmax
L
L1
oy —
N I H i
DI i

=G~
W |H@rPT

o]

Assembly BR block BR rail
Model No. i) (i) (i)
H W w2 MQx/ L1 Oil hole H1 F dXDXh
BRH15B 28| 34|96 |46 | 66 |26X26 M4X6 40 B3 83| 5 | 15| 14 | 60 [4.5X7.5X5.3
77.8 48.8
_BRH20B | 4| 44| 12 | 5 S32X36 | \1sxs Mex1 | 7 |156| 20| 18| 60 | 6x95%8.5
BRH20BL 924 | 32X50 63.4
88 57
_BRH25B | /4| 48 | 125 7 35X35 | \iext0 M6X1 1.8 (15623 | 22| 60 | 7X11X9
BRH25BL 110.1 | 35X50 79.1
1 72
BRH30B 45|60 | 16 | 9 b [y M8X13 M6X1 10 [15.6 | 28 | 26 | 80 | 9X14X12
BRH30BL 131.3 | 40X60 94.3
109 80
—BRH3SB 1551 70| 18 |95 SOXS0 | \raxq3 M6X1 15 [15.6 | 34 | 29 | 80 | 9X14X12
BRH35BL 134.8 | 50X72 105.8
138.2 105
—BRH4SB | .6 | g5 | 205 | 14 C60 M10X16.5 M8X1 18.5| 16 | 45 | 38 | 105 | 14X20X17
BRH45BL 163 | 60X80 129.8
Ref.Data Basic Load Rating Static Moment :
Weight
Model No. (mm) (Kgf) (Kgf'm)
Lmax (C) (CO) Mx My Block(Kg) Rail(Kg/m)
BRH15B 4000 20 850 1650 10 8 8 0.19 14
14 2560 1 1 .
BRH20B (e o 50 22 8 8 0.31 o
BRH20BL 1900 3330 28.6 23.4 23.4 047
2140 4000 32 31 ;
BRH25B 4000 20 36 045 36
BRH25BL 2996 5600 50.4 44.8 43.4 0.56
2980 5490 50 49 91
BRH30B (A o 60 0.9 59
BRH30BL 3900 7190 78.5 65 65 12
7010 .
BRH35B 4000 2 3960 96 75 73 15 79
BRH35BL 5230 9270 125 95 95 19
12100 ]
BRH45B T s 6740 216 170 168 23 o~
BRH45BL 8330 14950 267 210 210 2.8

ABBA-8

=
3
[0}
Q
Q)
c
ol
5]
E3
o}

<




